Name _________________________________________________
Math 2170, Exam III, Spring 2006 

1. For the following integrals, state which method you would use, and which basic integration rule.  Do not actually perform the integration.  Methods may include: substitution, change of variables, complete the square, add/subtract, trig identities, long division, partial fractions, by parts, trig substitution, etc.  Basic integration rules may include: power rule, log rule, exponential rule, trig functions, inverse trig functions, etc.  Some problems may require more than more method or rule.
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partial fractions
log rule
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complete the square

substitution
inverse tangent
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change of variables

or trig substitution
power rule
e) 
[image: image5.wmf]ò

-

dx

e

x

2

3


METHOD
RULE


table


or a string of about five other rules

ultimately ending in trig function
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substitution
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by parts and

substitution
exponential
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trig substitution
trig functions
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substitution
arcsin
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power reducing identity


trig functions
2. Integrate 
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3. Integrate 
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4. Integrate 
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5. Integrate 
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note: this is not the only possible solution
6. Integrate 
[image: image19.wmf]ò

-

dx

x

x

36

2



[image: image20.wmf]C

x

x

C

d

d

d

d

dx

x

+

÷

ø

ö

ç

è

æ

-

-

+

-

=

-

=

=

-

=

=

-

ò

ò

ò

6

sec

36

tan

6

1

sec

6

tan

6

tan

sec

6

sec

6

36

sec

36

tan

sec

6

sec

6

1

2

2

2

2

q

q

q

q

q

q

q

q

q

q

q

q

q

q

q


7. Integrate 
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8. Integrate 
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 using the integration tables in Appendix C.  Specify which formula you are using; a, b, and u where appropriate.
a=2, b=1, u=ln(t)
Formula #23
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9. a) Find 
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b) Find 
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10. Determine whether or not the integral converges or diverges.  If the integral converges, state its value.


[image: image27.wmf]dx

x

x

ò

¥

1

ln

1



[image: image28.wmf](

)

(

)

¥

=

¥

-

-

¥

=

-

=

=

=

=

®

¥

®

¥

ò

)

ln(ln

lim

)

ln(ln

lim

ln

ln

1

1

ln

1

1

a

b

x

du

u

dx

x

du

x

u

a

b


diverges
_1204140354.unknown

_1204143187.unknown

_1207229946.unknown

_1207230587.unknown

_1207231157.unknown

_1207231241.unknown

_1207230090.unknown

_1207229502.unknown

_1207229835.unknown

_1207229459.unknown

_1204141004.unknown

_1204141355.unknown

_1204141989.unknown

_1204142467.unknown

_1204142706.unknown

_1204142335.unknown

_1204141493.unknown

_1204141223.unknown

_1204140509.unknown

_1204140659.unknown

_1204140432.unknown

_1204140071.unknown

_1204140169.unknown

_1204140255.unknown

_1204140124.unknown

_1204139886.unknown

_1204140002.unknown

_1204139731.unknown

